T3 FERFRERARX 2FIEK)

@ 4 TE R EF ﬁ HER=1:250 [EALEF /AR

TER T KB RR N - w0 —_—— = ]
il . TAGEEET (20320 L || N ® 250 —_— = ©250 g 250
BIH SRERMLRITB50H S : % —y—— =9 =R o} A ]
S8ES I —— e~ ——————————————— el e — g ——

#HEES | 183-11,12 /% J— _\
1% K ™ iR 3 Al & /J ' i il

= — wvaé»%)
o (AT AT |
L\ < \( l
- \

7t—)
No.B 28 FIt—N 1) %
— _—m%(vﬂh\—wt\{\_l/) 2 \ e |\
. .

i

k>

2 ||
|
171
i ||
i l

b
- ’JX
et

|:§
O] =0

[w]i
[a]
B Ol
HFINER
O
‘DDEEI:
O ad BT
Py o N o [y -
=
3 I
=
i
FL 15l =
i 5 % # %

——P | FREE LRVET (FUR—ILbAL)
—0ip | mimE = s pUIREE T R
— O | misEs s RUSIEMIAL

—Ofe | simEs s RUBBAAET R~ %

——OZe [stEE = + RUEIEETAR X | 3| 450E 25.0%0 1.08 l
= SCrmme LI ||l e e
—cer Eﬁﬁ;ﬁ:‘%ihlﬂ%ﬂiAﬁ FQ,} %P? : : || , l " F
l L) | D - 0 : l l
D——\Il 3 |M A|| p | ||l 'l
bel | g ) 1 %’l
anie 1 ML 22 IRt %
- : s X
L ol 8 CH
| |
| e
|

'J
_|L ______ BoKEeTSOP _| | |
; ||_ __________ WokEOTS(P) y




S 3 FEBHE GHRAR SFEK) NOowe [ . "
(%) 1:100 2= [\ Atk
— praa— ﬁ?ﬁt I’-I‘ﬁ (1 ) #R=(H) 1250 [EAtE T /hERR]

Tskz KEHFTKEZRRSE LA
TAERBIE (£0D320)
BI%F SRERILIT B5IEIS
— 2
# R B [a ] 217
Y

BYEES | 183-11,12

METERBREER

R02 FALEZ/NIX

Bor. No. 1 TP=6L
3 % ; N &
I3 :% % 0 20 50
~ 0.40 &+
-
| 2 3 4 5 6 7 5 9 100n lo 43 ol
I I I I T | S
] e l
0 3
—4s|
\[ro] @200
1E=66. 481
£ " s
4.30 —15
1. 40 7.40
DL=59. 000 X U5V FRIZERETDAAEZE 7omBHE I L,
swES |[of[T][[2][[3][[e][[s][[e[[7]] [o]
g 1 ®450E ® 200E
4 & | [17.5] 25.0 [ 0.0 fi2.0 10.1 12.0
SmrazEre 0165 2.00]2.00[2.00]2.00 ]2 00]r.45[1. 50 8.8 41,00
Arimmsae O Py B[%2[ 2.00]2.00 [ 2. 001 OF ]1. 45]1. 50 8.8 41.00
P & | [3.083 3. 685 0.000 |. 487 1.364 1.487
& F OB | 0490 0.586 0.000 p. 041 0.043 0.047
I 0.001
8B II 3 3 S oo & & 3 3
WEHhE S 0o oo o =<} = © o0 © oo oo oo =<}
OO © O =} =} © O ©o =} =} © ©
H [ 0.110 0.108
SE 25 & 5 22 ecos 53 =
g E s 22 B8 % % 388 8-=- S8 &
L O ©o © © © © © OO WO oo ©
‘ 88 R8 8 8 828 2 8 g g
EHRK®ER (& AH) EMER |oo —ad < © & oS o o N <
1§E§%|
RE = X8I < 2 o 88 8833 e 8
#iRK iiﬁttmz-rﬁm&;z&n_g' + ® S S o S S o - =
2 B M 644311 i T 78 Bl BAHI T3 (BRI L)
= RARTAER — [@] — BERXRIE RE FHE2 On
HERETER MR EHE
IHR TR SEREHERL
BEIMESR
R SHEEIRER Asghz (As:t=4cm RC-40:t=10cm) BARY -0 AgE (t=4om)
EEE]
& i@ 3 BEELE-LE
B EERTIE
REEEE 1A/B

@ BEMRRIE 1KE THR2 On




T 3 FEREE HBRAX SREK)

HE B B (2) er @i

(BALER/ERR]

B % Mt B X(2)
T35 | CERTRERARE AL

TARKEEHBTE (F0D320)
BISF S RERMILEIT B5IE12
# R B [= =] 37
Y
wpEEs| 18311, 12

METRBREER

2 3 4 5 6 7 8 9 10cm
' |

= 2] =

L L L L

ERKER(FA)

BEES |

5 =
BRE WALR2TE, s ana

2 B M 6]413|1

—
BRI AL

RO2 EALLF/NIR

Bor. No. 1 TP=GL
B3 é ; N f&
it
5 5|zl ronas
d 7> 0.40 e
pEes
odbol
S 4y
Y _
AL
Ered
s
. i
[9] ®200€ % ha 8 B
“1E=66.511 ooy =
£37y
i 3
17) ®200E (4% ¢ 300) b
1E=66. 165 oo
630"1. —
DL=59. 000 X I3 FRICREBETAAAER 7mBDZ &,
EREE
& % ®200E
) & 12.0
SRraERE 25.50
A FLRARERE 25.50
i = 1.487
T B 0. 047
o B
3 8
BEMBES | o
=] ©
H [ 0.108
- [¥e)
T E S| =
& 8
S 3
BB B | o o
© (=<
8 S
T W | = -
% T & R BAAI Tk (RRAET)
RIRTIERI BEHEFEIE 22 THE2 5n
HEpETiER B ER
BREIER SERBLERL
&I iE
SEEIRIER BRAY-20) A& (t=4cm)
@l & & 3l
T # A BEELEZLE
RAEERTES —
REEES 1A/8






